17, ()

18. (o)

19. (g

(@

20. (g

21. (o))

(@)
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s=1t>—9t2+ 24t —18  asirugy R geafldt  QusssdHamar
UDMUNISED sTaflsd (PGS LESluomgd Gurg) e gGous s dlmer
ST,

Y=x"+4x+1 b euosTosmrsE (2, —2)—d CETECsTH wbmib
CemGesm igsr FwsTuTGsmerd Srams.

y=x>—4x"+5x~2 eamp emder Gumon  ohob G
LHISMeTS STers. :

R swamloy  wrll X umisursT  Upsus Clameom gt odHmud
3P(X=2)=P(X =4) sTeofled, P (X = 0) sredmss.

G GO sdgmle 500  wrewarssfer  senLsdr 83(I5
Quevilensls Lreusne @&HmiusTas GamseriuGdng. Eedr syraf
151 &iGor Symorsand, . alawésn 15 &Cor Smarsa)h 2 srerg)
eraaflio 120 £ Bihein 155 &4 WinEn G Cu o grar LomeveTeTT & il 6T
stenoTsmilSena sretme.

Qsir oumsd ellourmusense om Coi Camigemer Qurmga)s.
X i 5 16 i 15 20 25

A T T - I T 26 1TTEG

QO & emily wrfl ‘X —sr ﬁas{pg;sam- uTeusd  Spé  seimLsumm
2 6ITaTg].

A S R D S I B
P(X=x) 2a 3a 4a 5a

(a) 'a’—s&ruaélﬁsmués &rewor.
(i} P (X < 3) wdlisous srerr.

Q@G Swamiiy wrdl ‘X'-er flepssa Uras dlstrougsiomm o sirerg.

P(x) i 2/7 1/7 3/7

X -1 0 1 2 i

4 mremnwmisaflsit o L esflespeurss gerr LU Estimer, sflurs 2 SETEVEAT
HoLss felhsse) srars.

y=4x —x? whmih x-o5dhe @eLu’s urusafmend STETTS.

. d ~ _
8 L = XY 4 3x2o-¥
dx

& %+ycotx =2c0sx

&f: (D —7D + 12)y = 0, @rhg y=0 x=0 gaflee 2 =1,

dx
&f: (D2 —4D 4 13)y = =3
&7 (D? +9)y = sin 8x.
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Time — Three hours
{(Maximum Marks: 75}

IN.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two

divisions of each question in PART-C.

(2) Each. question carries 2(two) marks in PART-A, 3(three} marks in PART-B and
5{five) marks for each division in PART-C. ‘
{3) Normal distribution table are permitted

PART - A
1. How many values can a discrete random variable "X’ takes?
2. WWE(X)=3andE (X2) = 15, find var (X).
3. What is the mean and variance of the Poisson distribution? h
4. If s = 5t? 4 6¢, find the velocity when t = 3 sec.
5. Find the slope of the tangent to the curve y = ax? af the point
‘ (1, —-1).
6. Find the volume bounded by the curve y? = 4ax between x =0 and
x=2. '
7. Solve: g = ye*.
8. Solve: (D2 -36)y = 0.
PART - B
9. In a binomiat distribution has 5 trials with mean 3, find 'p’.
10. Write down the mean and standard devidtion of the standard
normat distribution. ,
11. write down the normal equations to fit a straight line y=mx+c.
12. If s =ae' + be™, show that the acceleration is always equal to the
distance passed over.
13. Solve: (D? + 16)y = 0.
14. Solve: z—i = 1;2
15. Find the integrating factor of % + v cotx = x.
16. Find the minimum value of y = x% — 10x.
| l {Turn over.....
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17. (a)

(b)

(c)

18. (a)

(c).

19. {a)

(b)

{c)

20. (a)

21. (a)
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PART - C

The distance time formula of a moving particle is given by
s =t3—9t? + 24t — 18. Find the velocity when the acceleration
is zero.

Find the equations of the tangent and normal to the curve
y=x*+4x+ 1 at (2,-2).

Find the maximum and minimum values of y = x® — 4x2 + 5x — 2
In a Poisson distribution 3P (X = 2) = P(X = 4), find P(X = 0).

The mean weight of 500 students in a certain college is 151 kg
and standard deviation is 15 kg. Assuming the weights are

normally distributed, find how many students weigh between

120 kg and 155 kg.
Fit a straight line to the following data:

X 5 R T T S BT

v AN R S T R ¢

A random variable ‘X" has the following probability distribution.

S Y H R R 3

B 7S S U R 5a

G Eind e GRS

if - a random variable ‘X' has the following probability
distribution, find mean and varianceof X.

‘ X R 0 1 2
P(x) 1/7 2/7 1/7 3/7

Four coins are tossed simultaneously. Find the probability of
getting exactly two heads.

Find the area bounded by the curve y = 4x — x?-and the X -axis.
Sotve: & = g*¥ + 3x2¢™Y
dx
Solve: % +ycotx = 2cosx
Solve: (D2 —7D + 12)y = 0. Given y =0, 3—;’ =1 when x = 0.

Solve: (D2 —4D +13)y =e™3*
Solve: (D2 +9)y = sin8x
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SBp ey enbd

[efly : () ved-o i UGH-, du ealdars uEHIEES gCsaD

g aleTTSsEREEWL, LoD UGEH-G-190 galarm elomaledmra)
gGsaib G Ufaseraan alan_weflesseao.
(2) gaQearm olemaw UGH-—aleo E@gsmr@} SIGCLeRTEET,

uGH-—adso aperm) wHOICUETEET WOOIL LEGH-G—e0 palbleur(m
e Sopg) wHltuerTser Cmio.]

Lsd - o

1. '—srend HellSe Fwamily widl sdSmear wHuysmer Gumitn.
2. E(X)=3 womn E (X%) =15 erefle Var (X)-sir wllsnu smers.
3. umbsumsr urasSlsr soTafl LomIe uTahLufsT WL ETQES.
4, s=5t2+6t aafld, t =3 Cpmeullsd Heng Cousd sSTaws.
5. y=ax? eenp suswereusmmufletr  fgsmer (1, —1)  eremp  yeimaflufled
CarHGar igsT Fmuea| srewr.
6. y?=4dax eretrm eusmereueoruilelr S gTemes X =0 wHmE x = 2-&GLb
LG smss.
7. 8 Z=ye*
8. &p (D*—36)y=0
LGS 2
9. @@ FIGUY ursusdlst pumd) 5 'gi,easmh, gmafl 3 gusal Qmésn Guryg
'p'—sr LAY SrevEs.
10. &L @usflemsols ursuedlssr ggmefl womid St allusssdear WY TusIs.
11. y =mx+ ¢ sretrny CriGasmipsr Gusflens suaMUTHIGMST FUISIS.
12. s=aet+bet aefld YOSSD eraug  gUCQUTYSID SLEG BB
GarmaalnE swb ser S (hs.
13. &3 (D*+16)y =0.
14, .. dy _ 1
&I dx  1+x?
15. %-l-y cotx = x 161 SwsTUM lgstT QFTEMSUT (B smysuf] STaiTS.
16. y = x? — 10x eretrm SFOSTUN IgslT @mie WS Smes.
e .
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